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Read the following instructions carefully before you begin to answer the questions. This Booklet contains
100 questions with multiple choice answers both in English and Odia language. In case of discrepancy in
meaning, the English version will prevail.
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. This Booklet contains in all 100 questions with multiple choice

ANSWETS,

All questions are compulsory and carry equal mark.

Before answering any question, checkup this Booklet and ensure
that it contains 20 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

. The Invigilator shall supply you the bank OMR Answer Sheet

separately. Enter your Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle/oval provided on left side of the Answer
Sheet carefully by black/blue ball point pen only. You must write
the name, date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question.

. A machine will read the coded information furnished by you in

the OMR Answer Sheet. If the information so furnished by you
are incomplete or different from what have been given in the
application form, you will be awarded Zero mark.

. These instructions must be complied with fully failing which your

Answer Sheet will not be evaluated and Zero mark will be
awarded.

. Answer must be given by completely blackening one of the four

circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall/room will make you liable to penal
action.

Read carefully the instructions of answering each question before
answering it.

Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
time on any question.

No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided below the questions wherever
needed.

. You must not carry into the examination hall/ room any book,

mobile phones or electronic devices printed/handwritten papers
except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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ARITHMETIC

1. By what greatest number will 2249, 8227 and 756 be divided to leave reminders of 8, 10 & 9
respectively?
(A) 77 (B) 747 (C) 889 (D) 898

69 Q2@ A°EYI TRl 2249, 8227 8 756 § RITRER VUGESS DRAUFEA 8, 10 6 9 0FS ?
(A) 77 (B) 747 (C) 889 (D) 898

2. When all the students of school are made to stand in lines to form a square, less than 10 students are left
surplus. If the students of the school are 1230, how many students will stand on each line?

(A) 32 @ (B) 34 @4 (C)35@d (D) 36 @€l

IR FUIRAA BIGAIET IR 68FER G MIG 9Q 021 FAURIQ 10 @ @F1 BIG FATER | YN BIGA°HHI
1230 96 626R JRRUIFER 6R6C 61 BIQ T2 626M?
(A) 32 @€l (B) 34 @41 (C) 35 a4l (D) 36 @41
3. The depth of a water tank of cube size of equal sides is 200 c.m. If 1000 ltr of water is drawn-out of the

tank daily, in how many days all the water of the tank be finished?
(A) 4 @@ (B) 6 3% (C) 78 (D) 8 @&

66115 AFARIRNIA AIS TIFR FIRIRG! 200 62.51 1 9RIQ 6 1000 REQ IS FIFEAER, 6R6S
QAR6Q AISER 68 62N |
(A) 4 GQ (B) 6 @9 (C) 789 (D) 8 G
4.1n a division the devisor is 4 times the quotient and 3 times reminder. If the reminder is 4, what is the

dividend?
(A) 16 (B) 19 (C) 40 (D) 48

IR QISIGCR NS, AITRA 4 61 IS° AUGCETR 3 Gl 26T | AR AGEIT 4§, 6969 VR 660 ?
(A) 16 (B) 19 (C) 40 (D) 48

5. The age of father and son together was 45, Syears back. What will be their combined age after 5 years?
(A) 65 (B) 60 (C) 55 (D) 50

5 Qd g6< Q19 8 g2R @9d {8 45 Qd gal 1 5 9T A6Q 6AFINETR QIAQ AAT 6R6F 6297
(A)65 (B) 60 (C) 55 (D) 50

6. What smallest number has to be deducted from 1294 to leave a reminder of 6 in each case when divided
by 9, 11 & 13?
(A)1 (B)2 (©)3 (D)4

1294 Q 699 Y7 °FY F62UG @R 9, 11, 13 FIQI AUITRER Y6SYR 6IFER QAUGEST 6 A2R?
(A) 1 (B)2 (©)3 (D) 4

7. What smallest number shall be added to 11158 to make the addition divisible by 77?
(A)9 (B) 8 (C)7 (D)5

11158 60 699 Y07 Tl CATRER CATTR 77 TR TN 6297
(A)9 (B)8 7 D)5
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8. What is the difference between the positional values of 6 in the number 9643627
(A) 59940 (B) 5994400 (C) 5994 (D) None of these
964362 6Q '6' @ IR AR FRIEQ 2BQ 6RES?
(A) 59940 (B) 5994400 (C) 5994 (D) 9AlIeF ARIQ 6163 96w
9.What is the highest of all the 2 digit primary numbers?
(A) 93 (B) 97 (C) 89 (D) 79
QR 2F T9Y AQ0IQ 92 IR AT 6960 ?
(A) 93 (B) 97 (C) 89 (D) 79
10. The addition of 2 numbers is 15 and the addition of their squares is 113. What are the 2 numbers?
(A) 4, 11 (B) 5, 10 (C) 6,9 (D)7, 8

@9@ LHIR AT 15 8 6AARTA F6Q SATTR 113 | 666Q QG| T2 62687
(A) 4,11 (B) 5,10 (©) 6,9 (D)7.8

11.What number shall be multiplied by that number to make a product of 41209?
(A) 207 (B) 203 (C) 209 (D) 213

609 AHYIG 69T TSI Fial IR FSITR 41209 6297
(A) 207 (B) 203 (C) 209 (D) 213

12.The result of subtraction of 2 numbers is 20% of the greater number. If the smaller number is 20, what is

the greater number?
(A) 25 (B) 45 (C) 50 (D) 80

Qa6 HIQ FEATTR, FPAIIR 20% 26T | AR AFYIT 20 626, 9@ AT 69C ?
(A) 25 (B) 45 (C) 50 (D) 80

13.15 years back, my age was 3 times the age my son. Now my age is 2 times the age of my son. What is the
total age of both of us?
(A) 60 years (B) 64 years (C) 72 years (D) 90 years

15 @9l 969 6¢1Q QO 67112 VAR 3 G&1 R | FECR 671 QA 661l Y2 FAAQ YRGS 26T 1 666
QAR 2T 9R TR VA F18 62667
(A) 60 @9 (B) 64 @8 (C) 72 @8 (D) 90 @

14. The product of two numbers is 70 and their addition is 17. What is the difference between the two?
(A)3 (B) 4 ©)5 (D)6

QRE YA YEITR 70 B CATTR 17 | 6668 Gl QATR 2BA TR 6R6C ?
(A)3 (B) 4 ©5 (D)6

15.1f 517*324 is divisible by 3, which of the following small number will replace the star?
(A)O (B) 1 (C)2 (D) None of these

QR 517 * 324 A°HIT 3 TR TRAIKY Y, 696R * QI VINER FELB 69Q YO ALHIT Q&S ?
(A0 (B)1 (©)2 (D) W9lIeE FRIQ 6TTT g€
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16. Which of the following number will fill up the gap in the series 4, 16, 36, 64 , 1447
(A) 81 (B) 100 (C) 132 (D) 140
4,16, 36, 64, -----144 AGIFIQ IR VRER 69Q A QZ?
(A) 81 (B) 100 (C) 132 (D) 140
17.3/5% of 2 village are farmers and the rest are businessmen. If the number of businessmen is 300, what is
the total population?
(A) 650 (B) 750 (C) 700 (D) 800

60lISN GIFIR 3/5 28 QIF1 @ 2AREY IR | IT QAT Q°FYI 300 W, 6969 gIFIal 6¢11C Smia Q°GHYI

6966 ?
(A) 650 (B) 750 (C) 700 (D) 800

18. Rahim reared some hen and goats. If the heads of the hens and goats are 90 and their legs are 248, how

many goats did Rahim rear?
(A) 32 _ (B) 34 (C) 36 (D) 40

Q27 @8 9C! 8 687 ARYRI | AT 687 8 990! I8 A8 90 B 63lIE T8 248 94, 666 QE| 6R6RIG 687

aiReRl ?
(A) 32 (B) 34 (C) 36 (D) 40
19.a-b b-c c—-a
e e 4
A0 (B ©5 (D)
a-b b—c c-a
il e 4 !
(40 ®) ©3 D¢

20. The H.C F of two numbers is 13. If one number is 91, what is the other number?
(A)7 (B) 65 (C) 13 (D) 63

986 SIS 61.21.6]. 13 | 661G Gyl 91 626R, AT A°HYIT 6269?
(A)7 (B) 65 (©)13 (D) 63

21.What times of H.C.F is the L.C.M of 48, 36, 72 & 24?
(A) 6 (B) 12 (©) 18 (D) 24

48, 36, 72 99° 24 Q R.A1.G. AN 6.91.9. | 6R6S G&1?
~ (A6 (B) 12 (C) 18 (D) 24

22. The H.C.F of 2 numbers is 3 and the L.C.M is 60. If one number is 12 what is the other number?
(A)5 (B) 15 (€) 18 (D) 36

QRG Qalia 6.Q1.9). 3, Q.G 60 | 6T LHY 12 626R ARYT 60657
(A)5 (B) 15 (C) 18 (D) 36
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23.The L.C.M of 25 & 30 is how many times their H.C.F?
(A) 40 (B) 41 (C) 45 (D) None of these

35 830 Q. @l. g, ISR 9. Al G, § 696 Gé1 ?
(A) 40 (B) 41 (C) 45 (D) 6716135 g6%

24. Find out the LCM of 3 a®b, 4a b? &6 ab.
(A) 12 a? b? (B) 12a* b (C) 12 a b? D)12ab

3a?b, 4ab? &6ab QR As G 6RES?
(A) 12 a? b? (B)12a%b (C) 12 a b? (D) 12ab
25 The sum of two numbers is 384 and their HCF is 48. What is the difference between the two numbe'rs?
(A) 48 (B) 96 (C) 144 (D) 192

@S@ QA°HYIQ AT R 384 ° L°SHIFLR GI.‘E]I.G‘L 48 | 6669 QST F12IEQ TR 6R6L7?
(A) 48 (B) 96 (C) 144 (D) 192

26. The addition of two numbers is 384 and their H.C.F is 48. What is the ratio between the two numbers?
(A) 3:5 (B) 4:5 ‘ (C) 2:3 (D) 1:3

QR IR CAINTR NI ¥ 6 GIAIG ¥ 6261, A FAR AFAIS 6266 ?
(A) 3:5 (B) 4:5 (©)2:3 (D) 1:3

27. The proportion of two numbers is 5:6. If their H.CF is 4 what is their L.C.M?
(A) 90 (B) 96 (C) 120 (D) 150

QaG THIR AGAIB 5:6 1 AQ 6ACISTR 61.Q1.9). 4 4. 6369 6AFURTA R.AI.G], 66T ?
(A) 90 (B) 96 (€) 120 (D) 150

28. The H.C.F of three numbers is 3 and their L.C.M is 720. If the 1* and 2™ numbers are 15 & 36, what is the
3" number?
(A) 16 (B) 14 (C) 12 (D) 10

F60IT @°H4Ia 6.91.9. 3 B R.QL.G, 7201 AT G2 8 FoI0 A°TMIFA 15 B36 92U, 6969 §O1A QT 696C ?
(A) 16 (B) 14 (©) 12 (D) 10

29. The product of two numbers is 216 and their H.C.F is 6. What is their L.C.M?
(A) 36 (B) 48 (C) 60 (D) 120

GRE THIQ GEITR 216 N9° 6AARTA 61.21.6. 6 6261, AHIFAR R Q.G 69667
(A) 36 (B) 48 (C) 60 (D) 120

30. The proportion of two numbers is 3:5 and their L.C.M. is 225. Then find out the smaller number?
(A) 45 (B) 60 (C)75 (D) 90

QEE IR AFUIS 3: 5 99" 6ATNITA R. Al. G, 225 | 696 AR AT 62697
(A) 45 (B) 60 (C) 75 (D) 90
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3 * The ratio of two numbers is 5:4. If 40% of the first number is 12, what will be 50% of the second number?
(A) 12 (B) 14 (©) 15 (D) 18
Qad HYIQ 2gAIe 5:4 1 AT QAN IR 40% 12 B9, 636Q TOTA IR 50% 6R6R 6297
(A) 12 (B) 14 ©) 15 (D) 18
32. The H.C.F of two numbers is 11 and their L.C.M is 7700, If one number is 275, what is the other number?
(A) 279 (B) 283 (C) 308 (D) 318

QRE LHIR G, Q. G. 1199° R, Q1. G, 7700 | 6SITT QG 275 626R, 2ARY AHIT 62607

(A) 279 (B) 283 (C) 308 (D) 318
33.If the proportion of 3 numbers is 3:5:7 and their L.C.M is 4200, what is their H.C.F?
(A) 40 (B) 80 (C) 120 (D) 200
61T Q¢ 2AQAIS 3: 5: 7 99° 6QAIREA |. l. §. 4200, 6969 6ACIRETR Gl Al. . 6X6E ?
(A) 40 (B) 80 (C) 120 (D) 200
34. Find out the LCM of a? + ab & ab — b2,
(A) ab (a +b)(a-b) (B)a(a-b)(a-b) (©)b(a+b)a+tb) (D) ab (a - b)(a +b)
a?+ ab &ab — b? Q R Ao Go 6R6E ?
(A)ab(a+b)a-b) (B)a(a-b)(a-b) (C)b(a+b)a+b) (D) ab (a-b)(a+b)
35. What is the square of 11117
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
1111 @ 96l 62667
(A) 1234321 (B) 12321 (C) 1112311 (D) 1232341
36. What smallest number should be added to 6375 to make the sum a complete square number?
(A) 50 (B) 20 ©25 . (D) 100
6375 6Q 699 YOF! LI 626 FER SATTR IS G4 9 A°HY 6297
(A) 50 (B) 20 (C) 25 (D) 100
37.(0.021)%= ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

(0.021)%= 6Q6% 699 ?
(A) 441 (B) 0.0441 (C) 0.0441 (D) 0.000441

38. What is the square root of 0.053361?
(A)+ 0231 (B) £0.241 (C) +0.249 (D) £0.251

0. 053361 @ Q4 ¢|@ 62667
(A)£0231 (B) £0.241 (C) £0.249 (D) £0.251

39. What is smallest complete square root number nearest to 10007?
(A) 29 (B) 30 (C) 31 (D) 32

1000 @ 52961 e §9or g4 QdRs 6966?
(A) 29 (B) 30 (€)31 (D) 32
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40. The length of a rectangular is 1.5 times its width. If its area is 1350 sq. meter, what 1s its perimeter? -
(A) 120 4. (B) 130 €. (C) 140 &. (D) 150 &1.

69lITN NG 6AGA 6F6Y 99Q 69@ G4l | I2IR EIGTR 1350 @. F6Q 626R, IRIQ AQAILN 6R6S ?
(A) 120 4. (B) 130 4. (C) 140 &. (D) 150 4.

41. In exchange of two square size plots of 400 & 441 sq. meter, a man purchased one square size lot.
What will be the expenditure if it is fenced at a rate of Rs.5.00/per meter?

(A) 240 61 (B) 260 651 (C) 280 &< (D) 300 S&

@66 6RIS GI2IQ 400 8 441 Q6 AR QAF TIRIQ BF GRER 6AITY QTIRIQ &5 FER 1 °96Q AR 622
%% Foa g6 5 o1 BAULER 66E HF 629 7 '
(A) 240 G& (B) 260 S (C) 280 6 (D) 300 61

42.1f the area of a square size field is 133.6336 sq. meter, what is its perimeter?
(A) 48.24 4. (B) 46.42 €. : (C) 46.24 4. (D) 46.32 4.

IS QUIRIR AR 6ISTR 133.6336 Q.41 626@, QeI aaQIel 69697
(A) 48.24 &. (B) 46.42 4. (C) 46.24 &1 (D) 46.32 4.

43, : -1331 ,
What is the cube root of el

(A) -5 B~ © % D) -1

—1331
4096

QLR CJ@ 6REES ?

(A) -5 (B) —= ©Z (D) —=
4. 377 x3)=2744 = 9
(A) -52 (B) 42 (C) -32 (D) -24

V27 xY=2744 = 6969 6297

(A) -52 (B) 42 (€) 32 (D) 24
45.3/=1728 x 15625 = 9
(A) -180 (B) -240 (C) -280 (D) -300

Y=1728 x 15625 = 6969 627
(A) -180 (B) 240 (C) 280 (D) -300

46. The population of a town is Rs.3, 00, 000. If the birth rate is 5% and the death 3%, what will be the
population of that town after 2 years? :
(A) 321120 (B) 311220 (C) 312120 (D) 322110

641G ALQ ERISA°FYI 3, 00,000 | AG FFLIQ 5% B RN 3% CYREN, 6660 2 Q¥ U6Q 69T ALK

MR Al 6RER 699 ?
(A) 321120 (B) 311220 (C) 312120 (D) 322110
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‘:- If the salary of “A” is 25% higher than the salary of ‘B’, by what percent is the salary of ‘B’ less than the
salary of “A’?
(A) 15% (B) 25% (C) 10% (D) 20%

UG A Q @09l B @511 25% 2@ €9, 6069 B @ @Q¢ll A @A 89009 696 @e1?
(A) 15% (B) 25% (C) 10% (D) 20%

48. The average of 6 members in family is 22 years. If the age of the youngest is 7 years, what was average
age of the members of the family at the time of birth of the youngest? '
(A) 15 years (B) 16 years (C) 17 years (D) 18 years

Q109 6 FEGA TALIG 904 22 9F | IF AR AR AR YAA 7 *TFY, 6669 ARRET 8F ATACR AAIAR
ARNAIPTQ AQULIR AL 6960 eI ?
(A) 15 @d (B) 16 Q9 (C) 179 (D) 18 @9

49. An examinee secures 30% marks and fails by 50 marks in an examination. Another examinee gets 320
marks and fails by 30 marks. What is the maximum marks of the examination?
(A) 700 (B) 800 (C) 900 (D) 1000

@66 AR1BICH & TRIBIEA 30% PFQ 8F 50 YR IR 6TR §4 1 2R 68 ANV 320 2R Y 30 AR

QIR 6TR, 4 | 6969 ANFIQ AR IR 6268 ?
(A) 700 (B) 800 (C) 900 (D) 1000

50. What is the average of X, X+2, X+4, X+6 and X+8?
(A) x +20 (B) x + 4 - (C)x+5 (D) x

X, Xx+2, x+4, x+6 6 x+8 Q LUALR 62627
(A) x +20 (B)x+4 (C)x+5 (D) x

51. The difference of 90% and 83% of a number is 175. Then find out 99% of the number?
(A) 1426 (B) 1750 (C) 2475 (D) 2500
691G HYIRQ 90% B 83% FIRIER 2IBA 175 | 6969 A°HITQ 99% 6QE6S ?
(A) 1426 (B) 1750 (C) 2475 (D) 2500
52. Find out the difference between 17% of 120 and 8% of 108?
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

120 @ 17% B 108 @ 8% FIRIER LBATR 626©?
(A) 11.66 (B) 11.76 (C) 10.76 (D) 10.66

53. How many hours is 20% of 40% of 4 hours and 20 minutes?
(A) 13/6 hours (B) 26/75 hours (C) 13 hours (D) None of these

4 991 20 8] Q 40% Q 20% 6R6Q AH? \
(A) 13/6 @8l (B) 26/75 @4l (C) 13 @4l (D) 6Q613G g62
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54. The rate of sugar having increased by 25%, Seema purchased lkg less than before with Rs.100. What is
the present rate of sugar per kg?
(A) Rs.20 (B) Rs.20.50 (C)Rs.25 (D) Rs.30

3R @R 25% SRIIQ A1 100 SFIER LI6ARI '1' Fgll 96 TF FéI 1 FAFIR TG Bl 9T AR 696 ?
(A) 620 (B) ©20.50 (C) 825 (D) 930

55. The average age of 25 boys is 15. If the average ages of first and the last 12 boys are 14.5 & 15.5

respectively, what the age of 13™ boy?
(A) 10 (B) 12 (© 15 (D) 16

25 @4 QIPREQ LAULIA 99Q 15. AT J2Fl 12 @4l 6 689 12 QISQ LIRILIR LA F2UFEA 14.5 8 15.5 99,

13 949 FIN6R 21 QIRSR QLA 669 ?
(A) 10 B) 12 (©) 15 (D) 16

56. Nabaghana borrowed Rs.10, 000 from a bank at an interest rate of 10% and lent the same to 02 persons at
13% interest. How much profit he will earn after 5 years after repaying bank loan?
(A) Rs.1200 (B) Rs.1500 (C) Rs. 2100 (D) Rs.2500

e 10% LI Qe 10,000 O K0 @G 13% 2IN6R YRS CRIFT RS CAR | 5 Q49 66969 648
QA UIF A6 AACSIR PR 6R6L T RN VRS ?

(A) 1200 €. (B) 1500 6. (C) 2100 &. (D) 2500 6.
57. What is the rate of interest if the principal amount becomes 3 times including the principal and interest in
20 years?
(A) 10% (B) 12% (C) 8% (D) 10.5%

6R6d PR 20 2F68 QI 6 R T8 PR 3 Gé CTARAN | RIS AR 6Q6E ?
(A) 10% (B) 12% (C) 8% (D) 10.5%

58. If certain principal is doubled in 20years, how many years will it take for that principal to multiply by 4
times?
(A) 40 years (B) 50 years (C) 60 years (D) 80 years

G 66T RIR 20 TER IS 99, 6969 606 TR AB ML 4 G681 629 ?
(A) 40 @8 (B) 50 @8 (C) 60 @8 (D) 80 @€
59. In how many years the interest on principal amount of Rs. 2,500 @ 3% interest will be equal to the interest

@ 7% for 5 years on principal amount of Rs.1, 500?
(A) 5 Years (B) 6 Years (C) 7 Years (D) 8 Years

6960 9F6Q 3% AR PUER §2,500 FRUNR Yo, §1,500 FJRUNR 7% AR QI6R 5 TR QI 86 AR
629 ?
(A) 5 @8 (B) 6 @9 (©) 794 (D) 8 @8
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60. Ajay borrowed some money from Rashmi at 5% simple interest per annum and was freed of debt repaying

Rs.8, 800 after 2 years. How much interest did he pay?
(A) Rs.800 (B) Rs.825 (C) Rs.850 (D) Rs.975

209 Q18R 5% AR QPIER A8 SF1 AFI0IQ F0S 78 GRAT U6Q §8,800 64R QSIS 62R! | 6668
QIRQ ALAY 6REE ST 6GUQ AGRI?
(A) 6800 (B) $825 (C) 6850 (D) 8975

61. At what rate of simple interest per annum certain principal amount will be doubled in 8 years?
(A) 10% (B) 12.5% (€) 15% (D) 20%

QTR 6960 2R AARYYUER 6T FJRAS 8 FF6R TG 629 ?
(A) 10% - (B)125% (€) 15% (D) 20%

62. Rakesh lent Prakash Rs.8750 at simple interest of 7%. How much interest will he get in 3 years?
(A) Rs.1870 (B) Rs.1837.50 (C) Rs.560 (D) Rs.2200

QU628 QITR7% 0P QIER G $8,750 IR 6ARI 1 6969 64 3 ATER 6R6E Yol AIRS ?
(A) 1870 (B) §1837.50 (C) 6560 (D) $2200

63. What is the amount of principal and interest of Rs.860 in 2 years (@2paise per rupee per month?
(A) Rs.1227.80 (B) Rs.1722.80 (C) Rs.1272.80 (D) Rs.1722

ol 9@ Qg 2 999l 2ALER 860 SFIR 2 eda AR 6RES ?
(A) ©. 1227.80 (B) ©. 1722.80 (C) <. 1272.80 D) <. 1722

64.1f the difference between compound interest and simple interest on certain money at 5% per
annum in 2 years is Rs.5, what is amount of the principal?
(A) Rs. 2000 (B) Rs. 1000 (C) Rs. 1500 (D) Rs. 2500

QTR S09G! 5% 2R QMER 2 AT6R 616 IMRIGR ARR F2I 8 999E G AR Alday 98 6.5

24, FRIGQ AAIIE 6960 629 ?
(A) Rs. 2000 (B) Rs. 1000 (C)Rs. 1500 (D) Rs. 2500

65. The difference between simple interest and compound interest of certain amount at the interest rate of 10%
in 3 years is Rs.93. What is that amount?
(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000

9026l 10 9&1 21061 3 6N 641613 FRIER ARR ol 1e° IGYR QI FIRIER ALY 93 SF | 69T FJRAUGD

AQLNE 6260 ?

(A) Rs.6000 (B) Rs.5000 (C) Rs.4000 (D) Rs.3000
~
66. What shall be the amount including compound interest, if Rs.1500 is invested at the interest rate of 7% in

2 years?
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35

§0R0! 7 SF1 2R6Q 1500 SFIQ 2 AE6Q AR SR QI 6966 6297
(A) Rs.1717.35 (B) Rs.1727.35 (C) Rs.1737.35 (D) Rs.1747.35
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67.In how many years Rs.6250 will earn compound interest of Rs.510 if saved in a bank at the interest rate of ™~
4% per annum?

(A) 2 years (B) 3 years (C) 4 years (D) 5 years
§999! 4 | 2Q6A 6250 ST 6T QUIFER AYEM 696S edea ola Q@@é QI 510 o 629 ?
(A) 2 years (B) 3 years (C) 4 years (D) 5 years
68. What will be the amount of compound interest if Rs.8000 is lent at simple interest rate of 5% for three
years?
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

8000 &1 FRUGY ORE! 5 GF PV VAR FAR 6Q6R 57 FTACR FIFR Y 626 6297
(A) Rs.1281 (B) Rs.1271 (C) Rs.1261 (D) Rs.1251

69. A person borrowed Rs.5000 from a bank at a compound interest of 10% to purchase a water pump. What

amount of money will he repay the bank after 3 years to be free of the debt?
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

6alIE QI8 a2t REQIQ 2641 6RIF 10 GG 9GIR el FARER QTR 5000 S Al QOIMER | 3 Qda6R

6FlIS 6QEQG O 6Q@ 64 QUITQ QS TIB 6269 |
(A) Rs.6655 (B) Rs.6055 (C) Rs.5555 (D) Rs.5255

70. A shopkeeper sold 2 articles and earned a profit of 20% in one and suffered a loss of 20% in the other.
What was the percentage of his profit or loss in the business?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

— —— e

Q681 61 QaG BRT FFRA 60ITAER 20% RN AN B 2ARITER 20% [T AZRI 1 6616 RAER BI'A
J0RT 662 RN S FS 62w ?
(A) 4% loss (B) 4% gain (C) 8% loss (D) No profit or loss

71. As shopkeeper carns a profit of 10% after giving 10 percent discount on a book. What is cost of the book,
if its price is marked Rs.77/-?
(A) Rs.70 (B) Rs.77 (C) Rs.63 (D) Rs.60

P66 RTEQIRIT S6E T RUEA 10% GLIT 699U 71l 10% RN K08 | UG 9F QA6R Qle| 77 o] SRS
AR, V12| 626M TTA FUCRY 66?7
(A) 70 o= (B) 77 o= (C) 63 o= (D) 60 6=
72. The purchase price of a bicycle is Rs.2000/-. Its marked price is 50 percent more than the purchase price

and the rebate is 20%. Find out the sale price of the bicycle?
(A) Rs.2300 (B) Rs.2400 (C) Rs.2500 (D) Rs.2600

69T AREIRA FACJRY ©.2000 | ILIQ MYS Y FUCRY ATV 50% AR G T 20% 626, AR
QG 69607
(A) 2300 ©. (B) 2400 ©. (C) 2500 G. (D) 2600 G
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73. A’ sold a cycle to ‘B’ @20% profit and ‘B’ sold the cycle to “C” at 25% profit. If ‘C” purchased cycle at
Rs.1500, what is the sale price of the cycle?

(A) 1200 | (B) 1100 (C) 1000 (D) None of these

A, B 9@ AIREXR 20 % RIVSA B B, C § 25% RANEQ SGR6R | 9 C ARELRG 6.1500 60 K&, 6069
AREKRA FGEIRY 696@ ?

(A) 1200 (B) 1100 (C) 1000 (D) 621638 E@qj"

74.1f 5% of the sale price of a table is equal to 6% of its purchase price and 8% of its sale price and 9% of its
purchase price makes a total of Rs.93 what is its purchase price?
(A) Rs.600 (B) Rs.400 (C) Rs.500 (D) Rs.700

A3 69ITN 659RA FFNIR 5% B FAIRNYS 6% VAR AFIR IS° 6I'A FFERIQ 8% B FUIRIRQ 9% Q AAF
6.93 94, 6EQRER QATRY 6R6E 629 ? .
(A) ©.600 (B) ¢.400 (C) ©.500 (D) ©.700

75. A, B, & C started a business investing Rs.14000. If the amount of profit eamed after one year by A.B & C

is Rs.337.50, Rs.1125 & Rs.637.50 respectively, what amount was invested by A?
(A) 2250 (B) 7500 (C) 4200 (D) None of these

A, B 8 C 69119 9.14000 69@ @ QUi 2o @6m | QIR 9@ A, B3 C ARSI RIVQ AR AUFES
©.337.50, ©.1125, 6.637.50 626m, A @ GF6LIC 21e] 669 ?
(A) 2250 (B) 7500 (C) 4200 (D) 691615 rigg}’

76. Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price he should have sold the
watch to get a profit of 10%?
(A) Rs.1, 650 (B)Rs.1, 700 (C)Rs.1, 760 (D) Rs.1, 820

64128 0 2ACAIITY 61,440 68 FFQ 10% T AR 1 6669 64 ATQ 6Q60 TFIEQ 3T AAYER 10%
R AR ?
(A) €1, 6350 (B) €'1, 700 (C)e'1, 760 (D) ©'1, 820
77. A shopkeeper purchased 50 pens at Rs.50 each. He sold 40 pens at a loss of 5%. At what percentage of

profit must he sell the balance pens to get 10% profit on the whole?
(A) 15% (B) 40% (C) 50% (D) 70%

68 PRF 6QIRIRT @RF GF €50 TAIRER 50 T AR FERI | 6AYLRIY 40 & FNAQ 5% VTER FFAR 1 696

238 ARC GO 64 6260 H9RC! AN IFIER AI'A 671IF AAER 10% NIV 6297
(A) 15% (B) 40% (C) 50% (D) 70%
< 78 Hari bought 1600 eggs @Rs.3.75 per dozen. He sold 900 eggs @2 eggs per rupee and the rest at the rate of
5 eggs per Rs.2/- . What was his percentage of profit?
(A) 40% (B) 42% (C) 45% (D) 46%

28 008 g% $3.75 aRQI6a 1600 & 2181 FARI | 628 FRIQ 900 & 2AIG 1 FFI6Q 26 8 2AQFL 2AQIQ 2 TFI6Q

5§ Q0 9GR6R | 6069 64 6RE6C FORT RN AIRER ?
(A) 40% (B) 42% (C) 45% (D) 46%
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79. A dishonest businessman sells his goods and gains 20% profit on both the cost price and sale price using

wrong measurement. What is the total percentage of his profit?
(A) 50% (B) 40% (C) 44% (D) None of these above

Q661 2 YLD PR BEF NIG2AQ 98 ARG FAFRY 8 T4 FRY AAER 20% ERHIN AR FER | 6669 BI'A

6FIITER SIGRE! 660 AN T4 7
(A) 50% (B) 40% (C) 44% (D) GeeRIQ 6F16EE qew

80. If the proportion of the sides of 2 cubes is 3:4, what is proportion of their volume?
(A)3:4 (B) 4:3 (C) 64: 27 (D) 27: 64

GRG ATARa QIg AINER AR 3: 4 626/, EATINETA ALGRR AFUIS ER6C 68 ?
(A)3: 4 (B) 4:3 (C) 64: 27 (D) 27: 64

81.350 students read in a school. The ratio of the boy and the girls is 4:3. How many girls have to leave the

school to make their proportion 2:1?
(A) 20 (B) 30 (C) 40 (D) 50

6615 FQUIREEa 350 @61 TRl AI0 9LE | 6ACRE ARIQ G2 B T2F AGAIS 4:3 | TNIRAQ 696 961 A1
Q1P SINSIER, 692 QIS 2:1 629 ?
(A) 20 (B) 30 (C) 40 (D) 50

82.1f A: B=3:4 and B:C =89, what is A:B:C?
(A)8:6:9 (B) 6:8:9 (€)9:8:6 (D) 3:32: 9

QG A:B=3:48B: C=8:9 g9, 6069 A: B: C 6060?
(A)8:6:9 (B) 6:8:9 (C)9:8:6 (D) 3:32:9

83. The proportion of copper, lead and nickel in an alloy of 100kg is 5:3:2. How much nickel would be added
to the alloy to make their proportion of the new alloy 5:3:37
(A) 8 kg. (B) 10 kg. (C) 12 kg, (D) 15 kg.

100 6@.8. @ 92 IRAER QI 84)l, A1A I9° TR 2GS 5 : 3 : 2 AT | AB YRR 6268 UALNSIR
ccon AGIRER G2 YRR AQAIS 5 : 3 : 3629 ?

(A) 862G, (B) 10 62.G. (C) 1262.8. (D) 15 62.8.
84.Rs.832 was distributed between Ram & Govind. If the proportion of the money given to them is 1/3:1/5,
how much money did Ram get?
(A) 312 (B) 520 (C) 500 (D) 332

QeI B 69ITR F1RIER 832 g QIE QAGMI | 6AFER AIRNYR TFIQ AGAS 1/3 : 1/5 626, QU 6R6L Tl

QARS?
(A) 312 (B) 520 (C) 500 (D) 332

85.350 boys read in a school. The ratio of the boys and girls is 4:3. After some girls left the school their ratio
turned to 2:1. How many girls left the school?
(A) 20 (B) 30 (C) 40 (D) 50

66115 FUIRAER 350 @6 TR AI0 ARE | EACPE ARIQ G2 B T2AF AGAIS 4 : 3 | TIRAQ 6R6F ¢ 2

SIZ SIRASIQ 92 8 TAFQ AGAIS 2 : 1 62N | 606Q 6R6F @6 T2 TMIRA AQGUIS RER?
(A) 20 (B) 30 (C) 40 (D) 50
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86. The proportion of 2 numbers is 10:1 and their sum is 1188, What is the number?
(A) 18 (B) 108 (C) 81 (D) 28

QaF Q°FYIQ 294G 10: 1 8 AT AT 1188 626R, AHUIT 6066 ?
(A) 18 (B) 108 (©) 81 (D) 28

87. There are 200 boys and girls and 10 teachers in a school. If the proportion of boys and girls is 7:3 what is
the ratio of boys, girls and teachers?
(A)7:3:1 B)7:3:2 (C)6: 14: 1 (D) 14: 6:1

U@ SUIRLER 200 4 BIGRILT B 10 08 3« 22T | BI8 6 BIQ1 AQAIS 7: 3 626w, BIG, 811 6 I
2AQAIE 6R6E 629 ?
(A)7:3: 1 (B)7:3:2 (C) 6: 14:11 (D) 14: 6:1

88. The ratio of two numbers are 3:5. If, 10 is added in each number, the new ratio becomes 5:7. Then find out

the smaller number?
(A) 9 (B) 12 (€) 15 (D) 25

Q8% LHYIQ AGAIS 3: 5 1 A& G6SYR °HIIER 10 6419 SAIAN, YOF LS AR 2AGAIGT 5: 794 606

QIR A°HYT 6R6% ?
(A) 9 (B) 12 (€) 15 (D) 25

89. At what ratio a shopkeeper shall add two types of rice, one @ Rs. 15 and the other @ Rs. 20 per kg to get
Rs. 16.50 per kg?
(A)3:7 (B)5:7 (©)7:3 (D) 7: 5

699 2QAIFER 691N 6QIRIRT FERIGIA GF 15 61 8 20 S0 90 IRIQ SIaR FsIasR, @eml 98 16.50 G
di aIge ?
(A)3:7 (B)5: 7 (€)7:3 D)7:5
90. The length of a rectangle is increased by 20% and the width is decreased by 20%. The area decreases by-

(A) 8% (B) 0.8% (€) 1.2% (D) 4%

641G\ 2ILETSR 650y S9! 20% QRITRI Ye° I S99G! 20 QISR | 6669 IR CHGTR 6960 KA
?
(A) 8% (B) 0.8% (C) 12% (D) 4%

91. The ratio between the length and breadth of a rectangular field is 5:4. If the breadth is 20m less than the
length, the perimeter of the field is:
(A) 260 m (B) 280 m (C)360m (D) None

66T 2ILe 6RgAR 6344 B g9a 2GAIE 5:4 | 96 Y2IQ g8 6TWI0IQ 20 FQ @61 62NN , 6961 2L

6999 AR 6262 ?
(A) 260 m (B) 280 m (C) 360 m (D) None
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92. The material of a cone was converted in to the shape of a cylinder of equal radius. If the height of the
cylinder is 6 cm, the height of the cone was-
(A)2 cm (B) 6 cm (C) 18 cm (D) 36 cm

6615\ 6QIQ § FARIR AAIR AT 3T 60ITT IRAAER AREE FAITRI | AT IRVAQ A9SI 6 62, A. 2,
606Q 6RNR QA ARG 6R6E 629 ?
(A) 2 cm (B) 6 cm (C) 18 cm (D) 36 cm
93. The radius of a cylinder is the same as that of a sphere. Their volumes are equal. The height of the cylinder

is how many times its radius?
(A) 4/3 (B) 2/3 O1 (D) 2

605 GRaa QUIQIS 691G 6INGAR UIAIS A6 ATIR | CATRER VST AFQ 26T | 6969 AREQ QL
QI2IQ QUARR 6260 G4 7

(A) 4/3 (B) 2/3 ©) 1 (D) 2

94. If the height of a cone is doubled, then its volume is increased by:
(A) 100% (B) 200% (C) 300% (D) 400%

AR 661G 6RIQ A ALV IR Y4l FAULIN, 6061 YA AXAR 6R6C QRAINS ?
(A) 100% (B) 200% (C) 300% (D) 400%

95.If the ratio of volumes of two sphere is 1:8, the ratio of their surface area is-
(A) 1:2 (B) 1:14 (C)1:8 (D) 1:16

@ 90T 60IRAA ARTRA AGAIS 1:8 T4, 6968 GI'A AAANTIN CAGTFA AGAIS 6R66 ?
(A) 122 (B) 1:4 (©) 1:8 (D) 1:16

96. If the surface areas of two spheres are in the ratio of 4:25, the ratio of their volume is-
(A) 4:25 (B) 25:4 (C) 125:8 (D) 8:125

9@ 2 T 6oInea IoRa AQUIe 4:25 94, 6669 6AFIFA ARTRA AQAISG 6R6C ?
(A) 4:25 (B) 25:4 (C) 125:8 (D) 8:125

97. A cube of side 6 cm is cut in to a number of cubes, each of side 2 cm. The number of cubes will be:
(A) 6 (B)9 (€) 12 (D) 27

6 6Q. 8. QIg FIY IR ATANY AT 6269 FSY 2 62, F. QIg T AAURER AAEIC SRR | 6069 IF
AL JOIR A 6R6Q 6297
(A) 6 (B)9 (©) 12 (D) 27
98. Three cubes of iron whose edges are 6 cm, 8cm, and 10cm respectively are melted and formed into a

single cube. The edge of the new cube formed is:
(A) 12 cm (B) 14 cm (C) 16 em (D) 18 cm

6 628, 8 628l 610 62. {i. QIFITS T6RIT 6Ale FE ANARY AR IR GOF AR ARES F6R,
QIR QIR 6544 6960 629 ?
(A) 12 cm (B) 14 cm (C) 16 cm (D) 18 cm
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99. A metal sphere of 5 cm radius is melted to make a cone with base of the same radius. What is the height of
the cone?
(A) 10 cm (B) 15 cm (C) 20 cm (D) 5 cm

5 62,8, QUIARY FEFY 61T IR 6FINRG CANIA ATAIS FTL @ 69I] 68 AREE FAUTRI | 698 6RIQ

QA QPR 6962 ?
(A) 10 cm (B) 15cm (C) 20 cm (D) 5 em

100. Two taps ‘A’ and ‘B’ can fill a cistern in 28 minutes and 56 minutes respectively. A third tap ‘C’ can
empty it in 42 minutes. If all the three taps are open, the time taken to fill the cistern will be:
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes

9aG AIfiee A 9e° B 60I5N Qg QRIGSA 28 8] 8 56 Ancea g4 *RAIRE | §ola AIdier 42 ARceR
QG SR FAAIER | AT ANB AITRRY I ANVER CHINTAAIN, 606@ QT JU62QIQ 6969 ATA ATS ?
(A) 32 minutes (B) 33.6 minutes (C) 33.8 minutes (D) 34 minutes
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